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Warmup: Write the equation of cach line using the given information.

a. Line with slope of 2 through the point (-3, -7) b. Line with y-intercept of (0,4) through the
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The equations you wrote above are linear models. Today we will be focusing on quadratic models. For each
form, identify what information is given by each feature in the equation.

()

Standard Form Intercept Form Vertex Form

y‘ = Cg';@— ¥ by -'\'. C y = C;\(X PX(.X"f\_\ y-; ;:’\(k' b\i +4’\4

/ £ A :
! \ // \/
io\-m\qt Xt ni&rup*s o~ || \ertex

| B
o\ v Y —\f\X&(‘CQ?j\’,
| j

Knowing this, try the following problems: s

1) Write an equation that models the given information. I
a. A quadratic wnhmgggg at (2,0) and (-2,0) that goes through the point (0,
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rid-(4,0) ttrat passes through the point (2,4)

b. A quadratic with x-intercepts at (-2,0

N
@ A quadratic with am of (1,6) that passes through the point (2,4) )
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6. A quanrstic With&%(‘i, -at‘hat passes through the point (-2, -5)
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Write yourself a list of steps to describe how to write a quadratic equation from key features.

Writing Quadratic Models

\\D&IM‘L‘L \,xﬂ\\c,\\ *(\:G(M '{-c/' \.":3&. Tig
z}’?wzs Wy feadue (wibex o %-iak)
ES) Plug o Gthie peint WO X%y
"f} Se\Wwe %\“ (2N F\U[S Yok in

2) Write the equation that models the given information:
a. A quadratic with vertex at (3,12) that goes through the point (-1,53)

b. A quadratic with x-intercepts at (6,0) and (10,0) that goes through the point (2, -14)




